

Bid Results - Garnet Glasser #599

Item No.	Qty.	Unit	Unit Price	Total Price
1	6,014	LF	\$0.70	\$4,209.80
2	6,014	LF	\$0.20	\$1,202.80
3	1	LUMP	\$1,995.00	\$1,995.00
4	CR Y		\$945.00	\$945.00
	Kujawski House Dr		\$665.00	\$665.00
	TR D		\$465.00	\$465.00
	Genesis Field DR		\$475.00	\$475.00
	TR 2		\$475.00	\$475.00
NWO Property Services				<u>\$10,432.60</u>

Bid Results - Yellow Creek Main #835

Item No.	Qty.	Unit	Unit Price	Total Price
1	5,878	LF	\$0.76	\$4,467.28
2	5,878	LF	\$0.25	\$1,469.50
3	1	LUMP	\$0.00	\$0.00
4	TR F		\$750.00	\$750.00
	CR 5		\$750.00	\$750.00
	SR 613		\$385.00	\$385.00
	CR 5-F		\$625.00	\$625.00

NWO Property Services **\$8,446.78**

Bid Results - Eugene Recker #876

Item No.	Qty.	Unit	Unit Price	Total Price
1	8,291	LF	\$0.82	\$6,798.62
2	8,291	LF	\$0.05	\$414.55
3	1	LUMP	\$5,000.00	\$5,000.00
4	Mean LLC Field Dr		\$400.00	\$400.00
	TR 21		\$900.00	\$900.00
Steve Kahle Excavating				<u>\$13,513.17</u>

Item No.	Qty.	Unit	Unit Price	Total Price
1	8,291	LF	\$0.64	\$5,306.24
2	8,291	LF	\$0.20	\$1,658.20
3	1	LUMP	\$3,500.00	\$3,500.00
4	Mean LLC Field Dr		\$150.00	\$150.00
	TR 21		\$900.00	\$900.00
NWO Property Services				<u>\$11,514.44</u>

Item No.	Qty.	Unit	Unit Price	Total Price
1	8,291	LF	\$0.60	\$4,974.60
2	8,291	LF	\$0.15	\$1,243.65
3	1	LUMP	\$4,500.00	\$4,500.00
4	Mean LLC Field Dr		\$250.00	\$250.00
	TR 21		\$450.00	\$450.00
Byrne Excavating				<u>\$11,418.25</u>

Item No.	Qty.	Unit	Unit Price	Total Price
1	8,291	LF	\$0.73	\$6,052.43
2	8,291	LF	\$0.10	\$829.10
3	1	LUMP	\$3,420.00	\$3,420.00
4	Mean LLC Field Dr		\$400.00	\$400.00
	TR 21		\$1,000.00	\$1,000.00
Sand Ridge Excavating				<u>\$11,701.53</u>

Item No.	Qty.	Unit	Unit Price	Total Price
1	8,291	LF	\$0.53	\$4,394.23
2	8,291	LF	\$0.13	\$1,077.83
3	1	LUMP	\$2,200.00	\$2,200.00
4	Mean LLC Field Dr		\$450.00	\$450.00
	TR 21		\$550.00	\$550.00
Wittler Excavating				<u>\$8,672.06</u>

Bid Results - John Vorst #659

Item No.	Qty.	Unit	Unit Price	Total Price
1	7,755	LF	\$2.12	\$16,440.60
2	7,755	LF	\$0.07	\$542.85
3	1	LUMP	\$200.00	\$200.00
4	Schnipke Bldg Dr		\$900.00	\$900.00
	Schnipke Field Dr		\$600.00	\$600.00
	Moe Land Field Dr		\$700.00	\$700.00
	Schnipke Field Dr		\$600.00	\$600.00

Steve Kahle Excavating **\$19,983.45**

Item No.	Qty.	Unit	Unit Price	Total Price
1	7,755	LF	\$1.70	\$13,183.50
2	7,755	LF	\$0.35	\$2,714.25
3	1	LUMP	\$0.00	\$0.00
4	Schnipke Bldg Dr		\$250.00	\$250.00
	Schnipke Field Dr		\$250.00	\$250.00
	Moe Land Field Dr		\$450.00	\$450.00
	Schnipke Field Dr		\$250.00	\$250.00

NWO Property Services **\$17,097.75**

Item No.	Qty.	Unit	Unit Price	Total Price
1	7,755	LF	\$0.90	\$6,979.50
2	7,755	LF	\$0.15	\$1,163.25
3	1	LUMP	\$0.00	\$0.00
4	Schnipke Bldg Dr		\$200.00	\$200.00
	Schnipke Field Dr		\$200.00	\$200.00
	Moe Land Field Dr		\$200.00	\$200.00
	Schnipke Field Dr		\$200.00	\$200.00

Byrne Excavating **\$8,942.75**

Item No.	Qty.	Unit	Unit Price	Total Price
1	7,755	LF	\$1.50	\$11,632.50
2	7,755	LF	\$0.10	\$775.50
3	1	LUMP	\$200.00	\$200.00
4	Schnipke Bldg Dr		\$500.00	\$500.00
	Schnipke Field Dr		\$500.00	\$500.00
	Moe Land Field Dr		\$500.00	\$500.00
	Schnipke Field Dr		\$500.00	\$500.00

Sand Ridge Excavating **\$14,608.00**

Item No.	Qty.	Unit	Unit Price	Total Price
1	7,755	LF	\$1.09	\$8,452.95
2	7,755	LF	\$0.29	\$2,248.95
3	1	LUMP	\$0.00	\$0.00

4	Schnipke Bldg Dr	\$470.00	\$470.00
	Schnipke Field Dr	\$470.00	\$470.00
	Moe Land Field Dr	\$470.00	\$470.00
	Schnipke Field Dr	\$470.00	\$470.00
Wittler Excavating			<u>\$12,581.90</u>